0000000000000 OPDFOOOODODOOOO
OJo0ooooood
https://www.100test.com/kao_ti2020/454/2021 2022 2008 E5 B9
B4 E8 80 83 c73 454579.ntmUI I 0000000 OODOOO
Jododoboooooodobooouooouoooooa
Jodododododododecooooooooo
Joodooooooooooo* ooouooooor O
0000000000000 000000000O0
J0odoboooooodoooooooooooooa
J0o0doo0oooodoooooooooooooa
J0o0d0oodoooooooo  ooooooooooo
Jodoodooooooooaseododououod
Jododoboboooodobooouoooooooooa
Jododoboooooodobooouooouoooooa
Jododobooodoodooooooouoooooa
Jodododooodozzoooboboobooooionn
Jod0o0dododoUddpushingOOOOoOooOoo
O O0O00" 00000020000 passages5t O O O
OdistinctionD D 0000000 ooOo® ooooo” 0o
Jo0od0oooooooooo ooooor oooon
OO000000000 020030 passage3d I O It satheory
to which many economist subscribed [ [ subscribe told [0 I [0 [
Jood* oOo” boouoodoooos ooooaar
Jododobooodoodooooooouoooooa
Jododobodoooodoo ooooooooobooo
Jod0ododododouodod Alsaresponse



(reaction) to B UJ I 00 [ response (reaction)d O “ OO O
J000000000o0oodobosdAld O OO 2001
0000000 OO The direct reason for specialization is
00000000 O Specialization can be seen as a

response to the problem of an increasing accumulation of scientific
knowledge. 0 0O O OO O 0O OO OO According to the passage,
downshifting emerged in the US as a result of NERERE
[ O 0O O O While in America the trend started as a reaction to the
economic decline. J 0 O O O O beresponse to U [ I U 0 0 O
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0000 1.00 0O Yet the BBC will have to change, because the
broadcasting world round it is changing. The commercial TV
channelsITV and Channel 4were required by the Thatcher
Government’ s Broadcasting Act to become more commercial,




competing with each other for advertisers, and cutting costs and jobs.
But it is the arrival of new satellite channelsfunded partly by
advertising and partly by viewers’  subscriptionswhich will bring
about the biggest changes in the long term. The foremost reason why
the BBC has to readjust itself is no other than .
(19960] passage2[] 41 ) A. the emergence of commercial TV
channel B. the enforcement of Broadcasting Act by the government
C. the urgent necessity to reduce costs and jobs D. the challenge of
new satellite channels 2. (1 [0 O Among the many shaping factors, |
would single out the country’ s excellent elementary schools. a
labor force that welcomed the new technology. the practice of giving
premiums to inventors: and above all the American genius for
nonverbal, “ spatial” thinking about things technological.
According to the author, the great outburst of major inventions in
early America was in a large due to . (19960] passage4[] 1
[1) A. elementary schoolsB. enthusiastic workers C. the attractive
premium systemD. a special way of thinking 3. [ [J [J But that may
have more to do with Japanese lifestyle. According to the author,
what may chiefly be responsible for the moral decline of Japanese
society? (20000] passage4[] 2[1 ) A. Women’ s participation in
social activities is limited. B. More workers are dissatisfied with their
jobs. C. Excessive emphasis has been placed on the basics. D. The
lifestyle has been influenced by western values. 4. [0 J [J Many
captive shippers also worry they will soon be hit with a round of huge
rate increases. The railroad industry as a whole, despite its
brightening fortunes, still does not earn enough to cover the cost of




the capital it must invest to keep up with its surging traffic. Yet
railroads continue to borrow billons to acquire one another, with
Wall Street cheering them on. According to the text, the cost increase
in the rail industry is mainly caused by . (20030] passage3

[1 500 ) A. The continuing acquisition. B. The growing traffic. C. The
cheering Wall Street. D. The shrinking market. 5. 0 LI I The
researchers studied the behavior of female brown capuchin
monkeys. They look cute. They are good natured, co-operative
creatures, and they share food readily. Above all, like their female
human counterparts, they tend to pay much closer attention to the
value of “ goods and services” than males. Female capuchin
moneys were chosen for the research most probably because they are
_____ . (200501 passagelld 31 ) A. more inclined to weigh what they
get B. attentive to researchers’ instructions C. nice in both
appearance and temperament D. more generous than their male
companions 00000000000 ooooooodo
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OO0 ODO0O00z20000 00000000000 The author
seems to believe the revival of the U.S. economy in the 1990s can be
attributed to the . A.turning of the business cycle
B.restructuring of industry C.improved business management
D.success in education [ [0 [ [0 [J Few Americans attribute this
solely to such obvious causes as a devalued dollar or the turning of
businesscycle. 1 O 0O 0O O O OO O O O O devalued dollar or the
turning of businesscyclel D O OO OO OO O0OOOOOO O
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00000000000 Theauthor begins his article with
Edmund Burk’ swords to . A.call on scientists to take
some actions B.criticize the misguide cause of animal rights C.warn
of the doom of biomedical research D.show the triumph of the
animalrightsmovement U OO0 OO0 OO0 O0O0O0OO0OO
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O 00O OO What s this passage mainly about? A.Approaches to
the commercial use of computers. B.Conveniences brought about by
computers in business. C.Significance of automation in commercial
enterprise. D.Advantages of credit cards in business. [ [J O O O [
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000000000 19980000000 Which of the
following is true according to the passage? A. Environmentalists were
blamed for antiscience in an essay. B. Politicians are not subject to
the labeling of antiscience. C. The * more enlightened” tend to tag
others as antiscience. D. Tagging environmentalists as “ antiscience
" sjustifiable. O D 0000000 O0OODOOOOOOO
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(1 O O O But surely that does not mean environmentalists
concerned about uncontrolled industrial growth are antiscience, as
an essay in US News &amp. World Report last May seemed to
suggest 1 D DO oUooodoooooooooo® O
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environmentalists, inevitably, respond to such critics. The true
enemies of sciences are those who question the evidence supporting
global warming, the depletion of the ozone layer and other
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